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1a. Rectangle = 24cms friangle = 12cm®
2a. A = Sem; B = 12cm*; B has the larger
area.

3a.6cm

4a. Rectangle = 72cm?; Hiangle = 36cm?

Sa.A=24em? B = 21ems; C = 2dem?;
B has a different area.
sa.5em

7a. Rectangle = 4scm®; iangle = 22.5cm®
16.5eme;

1b. Rectangle = 40cm friangle = 20cm®
2b. A = 14eme; B = 15cms; A has the
smaller area.

3b.scm

b. Rectangle = 76mme fiangle = 48mm:
X 30cms; C = 44eme;

€ has a different area.

&b.11em

7b. Rectangle = 27m*: friangle = 13.5m*
24.5me; B = 24me; C = 24m=;
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1a. Use the area of the rectangle fo
calculate the area of the friangle.

ocm
em Area=| |em:
ocm
sem Area=|  Jem:
g notoscale

1b. Use the area of the rectangle to
caleulate the area of the tiangle.

oem
scm arsa = Jeme
som
scm arsa = Jeme
W notoscale .

2a. Use the rectangles to work out the.
areas of the friangles below.

T et

Circle the Hiangle that has the larger
area.

hg

not fo scale

2b. Use the rectangles to work out the.
areas of the tiangles below.

sem
7em
sem sem
=
T O
4em. & Sem.

ingle that has the smaller

not fo scale

3a. The areas of the friangle and square
are written in the centre of the shapes.

sem sem

3b. The areas of the friangle and square
are wiitten in the centre of the shapes.

4em 4em

om|  3bem: cm

em | 20em* cm

Use your knowledge of area fo find the
issing value.

i
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Use your knowledge of area fo
g valve.

not fo scale v
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4a. Use the area of the rectangle to
calculate the area of the friangle.

12em
scm  Area = cm®
12em
scm  Area = cm®
not fo scale

ab. Use the area of the rectangle fo
caleulate the area of the tiangle.

12mm
oo Arsa x| Jmme

12mm
oo Arsa x| Jmme
hig notoscale .

5a. Calculate the areas of the tiangles
below and circle the triangle that has a
different area.

sb. Calculate the areas of the friangles.
below and circle the friangle that has a
different area.

T e basexhiatt | oo bueghal
2
/ [120mm
120mm
1iom
somm
Somm somm Toem =
noto scale d noto scale d

. The area of the friangle is s4cm?.
Using the formula, find the length of the
missing side.

&b. The area of the friangle is s5cm:.
Using the formula, find the length of the
missing side.

[ crea- szl aea- bmsgheiall |
2 2
120mm
100mm
Wiite your answer in cm. Write your answer in cm.
Vg notto scale |7 Dot toscale v
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7a. Use the area of the rectangle fo
calculate the area of the friangle.

somm
sem Area=| |em:
somm
scm Area =] Jem:
w notoscale v

7b. Use the area of the rectangle to
calculate the area of the Hriangle.

9.000mm

3m Area

9.000mm

3m Area

g

not fo scale

8a. Calculate the areas of the tiangles
below and circle the triangle that has a
different area.

areq - base x height

8b. Calculate the areas of the tiangles
below and circle the friangle that has a
diferent area.

(

base x height

s aca- B2

wom sooomm
somm,
120m
o
To00m
sem =
w rotoscoe oM/
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9a. The area of the triangle is 60.5cm:.
Using the formula, find the length of the
missing side.

b. The area of the friangle is 31.5m-.
Using the formula, find the length of the
missing side.

Write your answe:
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em.
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( base x heigh oo Bagheiall |
2 2
Tiomm, [em A

7.000mm

Write your answer in m.
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